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ΓΔΘΑΣΖ ΙΟΓΗ΢ΣΗΘΖ  ΟΙΤΚΠΗΑΓΑ 2014 

Δ Π Η Π Δ Γ Ο  2 
 
 

INSTRUCTIONS TO CANDIDATES 

ΟΓΖΓΗΔ΢ ΠΡΟ΢ ΣΟΤ΢ ΓΗΑΓΩΛΗΕΟΚΔΛΟΤ΢ 

 
For each question, choose and circle the correct answer A, B, C, or D. 

Γηα θάζε εξώηεζε, επηιέμηε θαη θπθιώζηε ηε ζωζηή απάληεζε Α, Β, Γ ή Γ. 

 

1. Expenses accrued are shown under  

 

 A. Current liabilities 

 B. Non current assets 

 C. Non current liabilities 

 D. Current Assets. 

 

1. Σα νθεηιόκελα έμνδα παξνπζηάδνληαη θάηω από ηελ θαηεγνξία. 

 

 Α. Τξέρνπζεο Υπνρξεώζεηο 

 Β. Κε θπθινθνξνύλ ελεξγεηηθό 

 Γ. Καθξνπξόζεζκεο ππνρξεώζεηο 

 Γ.     Θπθινθνξνύλ ελεξγεηηθό. 

 

2. Faros plc purchased a machine for €150.000 on 1 January 2013. After incurring 

transportation costs of €10.300 and spending €20.700 on installation, the machine 

subsequently brνke down incurring €9000 for repairing. Depreciation is charged at 10% per 

annum. 

  

 At what carrying amount will the machine be shown in Faros plc's statement of 

financial position (balance sheet)  at 31 December 2013? 

 

 Α. €171.000 

 B . €144.270 

 C . €162.900 

 D. €181.000 

2. Faros plc αγόξαζε κεράλεκα αμίαο €150.000 ηελ 1 Ηαλνπαξίνπ 2013. Κεηά πνπ δαπαλήζεθε 

πνζό €10.300 γηα κεηαθνξά ηνπ θαη €20.700 γηα ηελ εγθαηάζηαζε ηνπ, ην κεράλεκα 

παξνπζίαζε βιάβε εθ ησλ πζηέξσλ θαη ρξεηάζηεθαλ €9000 γηα επηδηόξζσζε ηνπ.  Απόζβεζε 

ππνινγίδεηαη εηήζηα πξνο 10%. 

  

 Πνηα ε ηξέρνπζα αμία ηνπ κεραλήκαηνο ζηηο νηθνλνκηθέο θαηαζηάζεηο ηεο Faros plc 

ζηηο 31 Γεθεκβξίνπ 2013? 

 

 Α. €171.000 

 B . €144.270 

 C . €162.900 

 D. €181.000 
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3.  Which TWO of the following costs should NOT be included in valuing the 

 inventories/stock of a manufacturing company? 

  

 (1) Carriage inwards 

 (2) Carriage outwards 

 (3) Depreciation of machinery 

 (4) The general manager’s salary. 

 

  

 A 1 and 4 

 B 1 and 3 

 C 3 and 4 

 D 2 and 4 

 

3. Πνηα από ηα πην θάηω ΓΔΛ πεξηιακβάλνληαη ζην θόζηνο ηωλ ηειηθώλ πξνϊόληωλ κηαο 

κεηαπνηεηηθήο εηαηξείαο? 

  

 (1) Κεηαθνξηθά αγνξώλ 

 (2) Κεηαθνξηθά πσιήζεσλ 

 (3) Απόζβεζεο κεραλεκάησλ. 

 (4) Ο Κηζζόο ηνπ γεληθνύ δηεπζπληή. 

  

 A  1 θαη 4 

 B  1 θαη 3 

 Γ  3 θαη 4 

 Γ  2 θαη 4 

4. Delta plc issued 50.000 equity shares (ordinary shares) of 100p each at a premium of 25p 

per share. The cash received was correctly recorded but the full amount was credited to the 

equity share capital  (ordinary shares capital) account. 

  

 Which of the following journals corrects this error? 

 

 A.  Debit Share capital €12.500, Credit Share premium €12.500 

 B. Debit Share premium €12.500, Credit Share capital €12.500 

 C.  Debit Share capital €50.000, Credit Share premium €50.000 

 D.  Debit Share capital €12.500, Credit Cash at bank €12,500 

4. Ζ εηαηξεία Delta plc έθδσζε 50.000 ζπλήζεηο κεηνρέο ησλ 100p ε θαζεκηά ππέξ ην άξηην.  Ζ 

ππεξηίκεζε θαζνξίζηεθε ζε 25p ηε κεηνρή.  Όιν ην πνζό ησλ εηζπξάμεσλ πηζηώζεθε ζην 

ινγαξηαζκό κεηνρηθνύ θεθαιαίνπ. 

  

 Πνηα είλαη ε ζωζηή εγγξαθή δηόξζωζεο ηνπ ιάζνπο? 

 

 A.  Φξέσζε Κεηνρηθνύ θεθαιαίνπ €12.500, Πίζησζε Απνζεκαηηθνύ ππέξ ην άξηην €12.500 

 B.  Φξέσζε Απνζεκαηηθνύ ππέξ ην άξηην €12,500, Πίζησζε Κεηνρηθνύ θεθαιαίνπ €12,500 

 Γ.  Φξέσζε Κεηνρηθνύ θεθαιαίνπ €50.500, Πίζησζε Απνζεκαηηθνύ ππέξ ην άξηην €50.000 

 Γ.  Φξέσζε Κεηνρηθνύ θεθαιαίνπ €12.500, Πίζησζε Κεηξεηώλ ζηελ ηξάπεδα €12.500 
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5. Nicolas and George are in partnership, sharing profits and losses equally. Their year-end is 

31 Dec. 

  

 On 1 July 2013 Pavlos joined the partnership and the new profit sharing ratio became 

 Pavlos 60%, Nicolas 20% and George 20%. 

  

 The profit for the year ended 31 Dec 2013 was €120.000, after charging an expense of 

€40.000 which related to the first 6 months of the year. The remainder of the profit accrued 

evenly over the year. 

  

 What is Nicola’s total profit share for the year ended 31 December 2013? 

  

 A. €48,000 

 B. €56,000 

 C. €54.000 

 D. €36,000 

 

5. Ο Ληθόιαο θαη Γηώξγνο είλαη ζπλέηαηξνη, πνπ επηκεξίδνληαη ηα θέξδε θαη ηηο δεκηέο εμίζνπ. Τν 

νηθνλνκηθό έηνο ιήγεη ζηηο 31 Γεθεκβξίνπ. 

  

 Tελ 1 Ηνπιίνπ 2013 ν Παύινο πξνζρώξεζε ζην ζπλεηαηξηζκό θαη ε αλαινγία επηκεξηζκνύ ησλ 

θεξδώλ έγηλε Παύινο 60% , Ληθόιαο 20% θαη Γηώξγνο 20%. 

  

 Τν θέξδνο ηνπ έηνπο πνπ έιεμε ζηηο 31 Γεθεκβξίνπ 2013 ήηαλ €120.000 κεηά ηελ αθαίξεζε 

εμόδσλ €40.000 πνπ αθνξνύζαλ ηελ πεξίνδν ησλ πξώησλ έμη κελώλ ηνπ έηνπο.  Τν 

ππόινηπν ηνπ θέξδνπο επηκεξίδεηαη εμίζνπ θαζ’ όιε ηε δηάξθεηα ηνπ έηνπο. 

  

 Πνην είλαη ην πνζό ηνπ θέξδνπο πνπ αλαινγεί ζηνλ Ληθόια γηα ην έηνο πνπ έιεμε 

ζηηο 31 Γεθεκβξίνπ 2013? 

  

 A. €48,000 

 B. €56,000 

 C. €54.000 

 D. €36,000 

6.  Which of the following events results in an increase in working capital?  

 

 A.     The transfer of raw materials into production 

 B.     The settlement of a supplier’s account.  

 C.     The sale of a motor vehicle in cash.  

 D.     Deposit cash into the bank.  

 

6. Πνην από ηα πην θάηω γεγνλόηα  ζα αύμεζε ην θεθάιαην θίλεζε ηεο εηαηξείαο;  

 

        Α.      Κεηαθνξά πξώησλ πιώλ ζηελ παξαγσγή.  

        Β.      Δμόθιεζε ηνπ ινγαξηαζκνύ ελόο πξνκεζεπηή.  

        Γ.      Πώιεζε νρήκαηνο ζε κεηξεηά. 

        Γ.      Θαηάζεζε κεηξεηώλ ζηε ηξάπεδα. 
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7. Your firm bought a machine for €16.000 on 1 January 2008, which had an expected useful 

life of six years and an expected residual value of €4.000.  The asset was to be depreciated 

on the straight-line basis. The firm's policy is to charge FULL year depreciation in the year 

of purchase and NO depreciation in the year of disposal. On 31 December 2013, the 

machine was sold for €6.250. 

 

 What is the Profit on disposal for the year 2013?  

 

 A.  €2.250 

 B.  €   250 

 C.  €6.250 

 D.  €4.000 

7. Ζ επηρείξεζε ζνπ αγόξαζε έλα κεράλεκα αμίαο € 16.000 ηελ 1 Ηαλνπαξίνπ 2008 ην νπνίν 

είρε αλακελνκέλε σθέιηκε δσή έμη ρξόληα θαη ππνιεηκκαηηθή αμία €4.000.  Ζ πνιηηηθή ηεο 

εηαηξείαο είλαη λα ππνινγίδεη απόζβεζε γηα ΟΙΟΘΙΖΡΟ ην έηνο ζην έηνο αγνξάο θαη 

ΚΖΓΔΛ απόζβεζε ζην έηνο δηάζεζεο. Τελ 31 Γεθεκβξίνπ  2013 ην κεράλεκα πσιήζεθε γηα 

€ 6.250. 

 

 Πνην είλαη ην θέξδνο από ηελ εθπνίεζε ηνπ κεραλήκαηνο ην έηνο 2013.      

 

 A.  €2.250 

 B.  €   250 

 C.  €6.250 

 D.  €4.000 

 

8.  Which TWO of the following could be found in the financial statements of a 

 partnership? 

  

 1 Fixed asset 

 2 Share premium 

 3 Drawings 

 4 Dividends paid 

 5 Ordinary share capital 

 Α. 1 and 3  

 Β. 2,and 3 

 C. 3 and 5 

 D. 3 and 4 

8. Πνηα ΓΤΟ από ηα πην θάηω παξνπζηάδνληαη ζηηο νηθνλνκηθέο θαηαζηάζεηο ελόο 

 ζπλεηαηξηζκνύ. 

 1 Πάγηα ζηνηρεία ελεξγεηηθνύ 

 2 Απνζεκαηηθό ππέξ ην άξηην 

 3 Αλαιήςεηο 

 4 Κεξίζκαηα πνπ πιεξώζεθαλ 

 5 Θεθάιαην ζπλήζσλ κεηνρώλ. 

 Α. 1 θαη 3  

 Β. 2,θαη 3 

 Γ. 3 θαη 5 

 Γ. 3 θαη 4 

 

 



5 | P a g e  
 

 

  
9.  Which one of the following accounts is NOT presented in the Appropriation 

  A/c of a Public Limited Company?  
  

  A. Proposed Ordinary Shares Final Dividend A/c  
  B. Provision for Corporation Tax A/c  

  C. Debentures Interest A/c  
  D. Preference Shares Interim Dividend A/c 
 

9.  Πνηνο από ηνπο πην θάηω ινγαξηαζκνύο ΓΔΛ ζα παξνπζηαζηεί ζην ινγαξηαζκό 
  θαηαλνκήο ηωλ θεξδώλ κηαο Γεκόζηαο εηαηξείαο 

 
  
 Α. Ινγαξηαζκόο Πξνηεηλόκελνπ κεξίζκαηνο θνηλώλ κεηνρώλ. 

  Β. Πξόβιεςε θόξνπ επί ησλ θεξδώλ.  
  Γ. Ινγαξηαζκόο ηόθσλ νκνινγηαθνύ δαλείνπ  

  Γ. Ινγαξηαζκνύο ελδηάκεζνπ κεξίζκαηνο πξνλνκηνύρσλ κεηνρώλ. 
  
 

10. Which of the following would be a CREDIT balance in the trial balance?  

 

 (Η) Purchases returns. 

 (II) Drawings. 

 (III) Accrued expenses. 

 (IV) Provision for bad debts. 

 (V) Prepaid expenses. 

  
 A. (I). (II), (III), (IV). 

 B. (I), (IV), (V). 

 C. (I), (III), (IV).  

 D. (II), (IV).  

 

10.     Πνηνη από ηνπο πην θάηω ινγαξηαζκνύο ζα έρνπλ ΠΗ΢ΣΩΣΗΘΟ ππόινηπν ζην 

 ηζνδύγην.  

 

        (Η) Δπηζηξνθέο αγνξώλ. 

 (II) Αλαιήςεηο. 

 (III) Οθεηιόκελα έμνδα. 

 (IV) Πξόβιεςε γηα επηζθαιείο ρξεώζηεο. 

 (V) Έμνδα πξνπιεξσηέα. 

  

 A. (I), (II), (III), (IV) 

 B. (I), (IV), (V) 

 Γ. (I), (III), (IV),  

 Γ. (II), (IV),  
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11. A company bought a machine on 31 March 2009 for €24.000. It had an expected life of six 

years with no residual value. On 30 June 2013 the machine was sold for €12.000. The 

company's year-end is 31 December. Its accounting policy is to charge depreciation on a 

monthly basis using the straight line method. 

  

 The profit on disposal of the machine which will appear in the income statement 

(profit and loss account) for the year ended 31 December 2013 is 

  

 A.  €12.000 

 Β.  € 8.000 

 C.  € 3.000 

 D.  € 5.000 

11. Κηα εηαηξεία αγόξαζε έλα κεράλεκα ηελ 31 Καξηίνπ ηνπ 2009 γηα €24.000. Τν κεράλεκα 

είρε σθέιηκε δσή έμη ρξόλσλ ρσξίο ππνιεηκκαηηθή αμία. Σηηο 30 Ηνπλίνπ 2013 ην κεράλεκα 

πνπιήζεθε γηα €12.000. Ζ εηαηξεία εηνηκάδεη νηθνλνκηθέο θαηαζηάζεηο ηελ 31 Γεθεκβξίνπ 

θάζε έηνπο. Ζ πνιηηηθή ηεο εηαηξείαο είλαη λα ρξεώλεη απόζβεζε επί κεληαίαο βάζεο ζύκθσλα 

κε ηε ζηαζεξή κέζνδν. 

 Σν θέξδνο από ηελ πώιεζε ηνπ κεραλήκαηνο πνπ ζα παξνπζηαζηεί ζηελ θαηάζηαζε 

ζπλνιηθώλ εζόδωλ (Ινγαξηαζκόο θεξδνδεκηώλ) γηα ην έηνο πνπ έιεμε ηελ 31 

Γεθεκβξίνπ 2013 είλαη 

 A.  €12.000 

 B.  € 8.000 

 Γ.  €3.000 

 Γ.  €5.000 

12. A company’s Profit and Loss/income statement for the year ended 31 December 2013 

showed a net profit of €83.600. It was later found out that €18.000 paid for the purchase of 

a motor van had been debited to the motor expenses account. It is the company’s policy to 

depreciate motor vans at 25% annually on the straight line basis, with a full year’s charge 

in the year of acquisition. 

  

 What would the net profit before depreciation be after adjusting for this error? 

  

 A. €106.100 

 B. €  70.100 

 C. €  97.100 

 D. €101.600 

12. Ζ θαηάζηαζε θεξδνδεκηώλ /ζπλνιηθώλ εζόδσλ γηα ην έηνο πνπ έιεμε ζηηο 31 Γεθεκβξίνπ 

2013 παξνπζίαζε θέξδνο €83.600. Κεηαγελέζηεξα δηεθάλεη όηη πνζό €18.000 πνπ 

πιεξώζεθε γηα αγνξά απηνθηλήηνπ ρξεώζεθε ζην ινγαξηαζκό γηα έμνδα νρεκάησλ.  Τα 

νρήκαηα ηεο εηαηξείαο απνζβέλνληαη ζύκθσλα κε ηελ ζηαζεξή  κέζνδν πξνο 25% εηήζηα κε 

πιήξε εηήζηα επηβάξπλζε ην έηνο απόθηεζεο ηνπο 

 

 Πωο ζα δηακνξθωζεί ην θαζαξό θέξδνο πξν απνζβέζεωλ  κεηά ηελ δηόξζωζε ηνπ 

 ιάζνπο? 

  

 A. €106.100 

 B. €  70.100 

 Γ. €  97.100 

 Γ. €101.600 
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13. Valter Ltd received a loan on 1 July 2013 for €200.000 repayable in semiannual instalments 

of €12,500 each, starting on the 31 December 2013. During 2013 the instalment was duly 

paid. The company’s year-end is 31 December  

 The statement of financial position for the year ending 31 December 2013 will 

show the loan under current and non-current liabilities/long term liabilities as 

follows: 

                   Current liabilities Non-Current liabilities/Long term liabilities 

 A.                     -----                         €187.500  

 B. € 25.000 €162.500 

 C.        €187.500 ------     

    D. €12.500 €187.500                                       

      

13.   H Valter ηελ 1 Ηνπιίνπ 2013 πήξε δάλεην ύςνπο €200.000 απνπιεξσηέν κε ίζεο εμακεληαίεο 

δόζεηο ύςνπο € 12.500 ε θαζεκηά, αξρνκέλεο ηελ 31 Γεθεκβξίνπ 2013.  Θαηά ηε δηάξθεηα 

ηνπ 2013 ε νθεηιόκελε δόζε πιεξώζεθε εμνινθιήξνπ.  Ζ εηαηξεία εηνηκάδεη ινγαξηαζκνύο 

ηελ  31 Γεθεκβξίνπ.   

 Ζ θαηάζηαζε νηθνλνκηθήο ζέζεο ηεο Δηαηξείαο γηα ην έηνο πνπ έιεμε ζηηο 31 

Γεθεκβξίνπ 2013 ζα παξνπζηάδεη ηηο δόζεηο ηνπ δάλεηνπ ωο καθξνπξόζεζκεο θαη 

ηξέρνπζεο ωο αθνινύζωο:  

  Σξέρνπζεο ππνρξεώζεηο Κε-Σξέρνπζεο ππνρξεώζεηο 

 A.                      -----                                                   €187.500 

 B.   €25.000   €162.500 

 Γ. €187.500 ------     

    Γ. €12.500   €187.500                                       

 

14. Net Assets are: 

 A. Fixed Assets + working Capital – Non-current Liabilities (or Long term liabilities) 

 B.  Share Capital + Working Capital – Non-current Liabilities (or Long term liabilities) 

 C.  Fixed Assets – Working Capital + Non-current Liabilities (or Long term liabilities) 

 D. Fixed Assets + Share Capital + Non-current Liabilities (or Long term liabilities) 

 

14.  Σν Θαζαξό ελεξγεηηθό είλαη: 

 A. Πάγην ελεξγεηηθό +θεθάιαην θίλεζεο – καθξνπξόζεζκεο ππνρξεώζεηο 

 Β.  Κεηνρηθό θεθάιαην + θεθάιαην θίλεζεο – καθξνπξόζεζκεο ππνρξεώζεηο 

 Γ. Πάγην ελεξγεηηθό +θεθάιαην θίλεζεο + καθξνπξόζεζκεο ππνρξεώζεηο 

 Γ. Πάγην ελεξγεηηθό + κεηνρηθό θεθάιαην + καθξνπξόζεζκεο ππνρξεώζεηο 

 

   

 



8 | P a g e  
 

15. A company receives rent from a large number of properties. The total amount received in 

the year ended 30 September 2013 was €481.200. 

  

 The following were the amounts of rent in advance and in arrears at 30 September 2013 

and 2012: 

   30 Sep 2013 30 Sep 2012 

   € €                               

 Rent received in advance                       31.200 

 Rent in arrears (all subsequently received) 21.200                    18.400 

  

 What amount of rental income should appear in the company’s income  statement 

for the year ended 30 September 2013? 

  

 A. €515.200 

 B. €481.200 

 C. €472.800 

 D. €447.200 

15. Δηαηξεία εηζπξάηηεη ελνίθηα από κεγάιν αξηζκό αθηλήησλ. Τν ζύλνιν ησλ εηζπξάμεσλ ηνπ 

έηνπο πνπ έιεμε ζηηο 30 Σεπηεκβξίνπ 2013 ήηαλ €481.200. 

  

 Τα πνζά ησλ πξνθαηαβνιώλ θαη ησλ νθεηινκέλσλ πνζώλ θαηά ηελ 30 Σεπηεκβξίνπ 2013 

and 2012: 

   30 ΢επη.2013   30 ΢επη. 2012 

   € €                               

 Πξνεηζπξάμεηο  31.200 

 Οθεηιόκελα εηζπξαθηέα ελνίθηα 

    (εηζπξάρηεθαλ κεηαγελέζηεξα) 21.200 18.400 

  

 Πνηα είλαη ηα πνζά πνπ ζα παξνπζηάδνληαη ωο εηζόδεκα από ελνίθηα ζηελ 

θαηάζηαζε ζπλνιηθώλ εζόδωλ ηεο Δηαηξείαο ζηηο 30 ΢επηεκβξίνπ 2013? 

  

 A. €515.200 

 B. €481.200 

 C. €472.800 

 D. €447.200 

16.  A trainee accountant prepared the business’s Income statement/Profit and loss account 

   and gave it to the senior accountant for review. When the senior accountant reviewed the 

   accounts he identified the following errors: 

 

 1. Repairs and maintenance amounting to €1.500 were debited to the Motor vehicles   

 account 

 

 2. Goods amounting to €600 valued at cost where taken by the owner of the  business for 

 his own use but no entry was made in the books.    

 

 

 After the correction of the above errors the business profit before depreciation 

 will 

 

 A.    Increase by 600 

      B.    Remain the same 

      C.    Reduce by €1.500 

      D.    Reduce by €900    
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16. Έλαο εθπαηδεπόκελνο ινγηζηήο εηνίκαζε ηελ θαηάζηαζε ζπλνιηθώλ εζόδσλ/θαηάζηαζε 

 θεξδνδεκηώλ ηεο επηρείξεζεο  θαη  ηελ παξέδσζε ζηνλ αξρηινγηζηή γηα έιεγρν. Όηαλ 

 ν αξρηινγηζηήο έιεγμε ηνπο  ινγαξηαζκνύο ηεο επηρείξεζεο επηζήκαλε ηα πην θάησ ιάζε. 

 

 1. Ζ Δπηδηόξζσζε ελόο νρήκαηνο κε θόζηνο €1.500 ρξεώζεθε ζην ινγαξηαζκό ησλ 

 νρεκάησλ 

  

 2. Πξντόληα κε θόζηνο €600 ηα πήξε ν ηδηνθηήηεο ηεο επηρείξεζεο γηα δηθό ηνπ ζθνπό αιιά 

 δελ έρεη γίλεη θακία εγγξαθή ζηα βηβιία ηεο επηρείξεζεο. 

 

 Κεηά ηελ δηόξζωζε ηωλ πην πάλω ιαζώλ ην θέξδνο πξν απνζβέζεωλ ζα: 

  

    A.    Απμεζεί θαηά €600 

    B.    Παξακείλεη ην ίδην 

      C.    Κεησζεί θαηά €1.500 

    D.    Κεησζεί θαηά €900    

 

 

17.  Andreas is a trainee accountant. When he prepared the trial balance for the company he 

identified a difference in the total debits and credits and put the difference in the suspense 

account. When the head of the accounts department reviewed the sales invoices he 

identified that an invoice of €350 was credited to the accounts receivables by Andreas who 

had also credited sales accounts.   

 

 The following Journal entry should be made to correct the error.  

 

 

 A.  Debit Accounts receivables and Credit sales with €350 

 B.  Debit accounts receivables and Credit suspense account with €350 

 C.  Debit accounts receivables and credit suspense account with €700 

 D.  Debit accounts receivables and credit sales with €700.  

 

 

17. Ο Αλδξέαο είλαη εθπαηδεπόκελνο ινγηζηήο. Όηαλ εηνίκαζε ην ηζνδύγην γηα ηελ εηαηξεία ηνπ 

αλαθάιπςε όηη ην ζύλνιν ησλ ρξεώζεσλ δελ ζπκθσλνύζε κε ην ζύλνιν ησλ πηζηώζεσλ θαη 

έβαιε ηελ δηαθνξά ζε έλα πξνζσξηλό ινγαξηαζκό. Όηαλ ν ππεύζπλνο ηνπ ινγηζηεξίνπ 

έιεγμε ηα ηηκνιόγηα πσιήζεσλ αλαθάιπςε όηη έλα ηηκνιόγην €350 είρε πηζησζεί από ηνλ 

Αλδξέα ζην  ινγαξηαζκό εηζπξαθηέσλ. Ο Αλδξέαο πίζησζε επίζεο ην ινγαξηαζκό πσιήζεσλ.  

 

 

 Ζ πην θάηω εκεξνινγηαθή εγγξαθή ζα πξέπεη λα γίλεη γηα λα δηνξζωζεί ην ιάζνο. 

 

 A.  Φξέσζε ινγαξηαζκνύ εηζπξαθηέσλ θαη πίζησζε ινγαξηαζκνύ πσιήζεσλ κε €350 

 B.  Φξέσζε ινγαξηαζκνύ εηζπξαθηέσλ θαη πίζησζε πξνζσξηλνύ ινγαξηαζκνύ €350 

 C.  Φξέσζε ινγαξηαζκνύ εηζπξαθηέσλ θαη πίζησζε πξνζσξηλνύ ινγαξηαζκνύ κε €700 

 D.  Φξέσζε ινγαξηαζκνύ εηζπξαθηέσλ θαη πίζησζε ινγαξηαζκνύ πσιήζεσλ κε €700  

 

 

  18. Α company's share capital consists of 100.000 50p equity shares all of which were 

 issued at a premium of 20%.  

  

 The company’s Statement of financial position/Balance sheet will show: 

  

  Share capital Share premium 

 A.  €50.000 €40.000 

 B.  €60.000 €   ------    

 C.  €50.000 €10.000 

 D.  €100.000 €40.000 
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  18. Τν κεηνρηθό θεθαιαίν ηεο εηαηξείαο  απνηειείηαη από 100.000 κεηνρέο ησλ 50 Σελη ε θάζε 

κηα νη νπνίεο εθδόζεθαλ ππέξ ην άξηην θαηά 20%. 

 Ζ θαηάζηαζε ηεο Οηθνλνκηθήο ζέζεο/ηζνινγηζκόο ηεο εηαηξείαο ζα δείρλεη: 

   Κεηνρηθό θεθάιαην Απνζεκαηηθό ππέξ ην άξηην 

 A.  €50.000 €40.000 

 B.  €60.000 €-------    

 Γ.  €50.000 €10.000 

 Γ.  €100.000 €40.000 

19. The net assets of Niki’s business increased by €5.525 over the year to 31 October 2013. 

 During that year she had paid in additional capital of €4.000, drawn €1000 of cash each 

month and, on one occasion, has taken goods costing €625 for her own use. 

  

 The results of the business for the year ended 31 October 2013 was 

  

 A. Profit €3.150 

         B. Profit €14.150 

 C. Loss  €3.900 

 D. Loss €14.150 

19.  Τα θαζαξά πεξηνπζηαθά ζηνηρεία ηεο επηρείξεζεο ηεο Λίθεο απμήζεθαλ θαηά €5.525 ην έηνο 

πνπ έιεμε ηελ 31 Οθησβξίνπ 2013. 

 Θαηά ηε δηάξθεηα ηνπ ίδηνπ έηνπο είρε θαηαβάιεη πξόζζεηα θεθάιαηα ύςνπο €1.000, θαη είρε 

αλαιήςεηο € 1000 ζε κεηξεηά θάζε κήλα θαη, ζε κηα πεξίπησζε, πήξε πξντόληα από ηελ 

εηαηξεία γηα δηθή ηεο ρξήζε θόζηνπο €625. 

 Σα απνηειέζκαηα  πνπ είρε ε επηρείξεζε γηα ην έηνο πνπ έιεμε ζηηο 31 Οθηωβξίνπ 

 2013 ήηαλ. 

 A. Θέξδνο €3.150 

         B. Θέξδνο €14.150 

 C. Εεκία €3.900 

 D. Εεκία €14.150 

 

20.   A shareholder sold 10.000 ordinary shares of €1 for €15.000.  

 

 What effect will this have on the share Capital of the company?  

 

 A      It will decrease by €15.000  

 Β   It will increase by €10.000  

 C   It will decrease by €10.000  

 D   It will  not be affected  

 

20. Έλαο κέηνρνο πώιεζε 10.000 ζπλήζεηο κεηνρέο νλνκαζηηθήο αμίαο  €1 γηα €15.000.  

  

 Πωο ζα επεξεάζεη απηή πξάμε ην κεηνρηθό θεθάιαην ηεο εηαηξείαο.  

 

 Α.  Θα κεησζεί θαηά  €15.000  

 Β. Θα απμεζεί θαηά €10.000  

 Γ.  Θα κεησζεί θαηά €10.000  

 Γ.     Γελ ζα επεξεαζηεί 
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21. Poka plc had commenced trading on 1 January 2013 and had zero inventories at that date. 

During 2013 made purchases of €155.000 of which €5.000 were returned as being faulty. 

The company incured carriage outwards of €4.000, and carriage inwards of €9.000. Closing 

inventories at 31 December 2013 are valued at €12.000. 

  

 In the income statement (Profit and loss account) for the year ended 31 December 

 2013 the cost of sales figure is:  

  

 A. €157.000 

 B.  €147.000 

 C.  €142.000 

 D.  €143.000   

 

21. H εηαηξεία Poka plc άξρηζε ηηο εκπνξηθέο ηεο δξαζηεξηόηεηεο ηελ 1 Ηαλνπαξίνπ 2013 ρσξίο 

λα έρεη απόζεκα εκπνξεπκάησλ. Θαηά ηε δηάξθεηα ηνπ 2013 είρε αγνξέο αμίαο €155.000, από 

ηηο νπνίεο επέζηξεςε €5,000 σο ειαηησκαηηθά εκπνξεύκαηα. Ζ εηαηξεία είρε κεηαθνξηθά 

πσιήζεσλ €4.000, θαη κεηαθνξηθά αγνξώλ €9.000. Τα ηειηθά απνζέκαηα ηεο εηαηξείαο ζηηο 

31 Γεθεκβξίνπ 2013 απνηηκήζεθαλ ζε €12.000. 

  

 Σν θόζηνο πωιήζεωλ ζηελ θαηάζηαζε ζπλνιηθώλ εζόδωλ γηα ην έηνο 2012 αλήιζε 

 ζε: 

  

 A. €157.000 

 B.  €147.000 

 C.  €142.000 

 D.  €143.000   

22.  The rule in Garner V Murray states that, subject to any agreement to the  

 contrary, one partner’s deficiency is to be shared by the other partners:  

  

 A.  in ratio of their ‘last agreed capitals’  

 B.  in their profit and loss sharing ratios  

 C.  in the ratio of their original capital  

 D.  none of the above  

   

 

22. Ο Θαλόλαο ‘Garner V. Murray’ δειώλεη όηη, εάλ δελ ππάξρεη νπνηαδήπνηε άιιε 

ζπκθωλία ην έιιεηκκα ελόο ζπλεηαίξνπ πξέπεη λα θαιπθηεί από ηνπο άιινπο 

ζπλεηαίξνπο.  

 

 A.   Κε βάζε ηελ αλαινγία ησλ ηειεπηαίσλ θεθαιαίσλ ηνπο 

 B.   Κε βάζε ηνλ επηκεξηζκό ηνπ θέξδνπο θαη δεκίαο 

 Γ.   Κε βάζε ηελ αλαινγία ηνπ αξρηθνύ θεθαιαίνπ  

 Γ.   Θαλέλα από ηα πην πάλσ  

 

 

 

 

 

 

 

 

 

 

23. During the year ending 31 December 2013 a manufacturing company had sales amounting 

to €900.000 and a direct labour cost and production overheads of €450.000. Purchases of 
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raw material during the year amounted to €155.000 which increased the inventory of raw 

materials held on the 1 January 2013 by €15.000. The stock take of finished goods carried 

out on the 31 of December 2013 showed an increase of €30.000 compared to last year. 

 

 The company’s gross profit for the year ending 31 December 2013 was: 

           

 Α. €250.000 

 B. €325.000 

 C. €620.000 

 D. €340.000 

 

23. Θαηά ηε δηάξθεηα ηνπ έηνπο πνπ έιεμε ζηηο 31 Γεθεκβξίνπ 2013, κηα κεηαπνηεηηθή  εηαηξεία 

είρε πσιήζεηο ύςνπο € 900.000 θαη άκεζν θόζηνο εξγαζίαο θαη έμνδα παξαγσγήο €450.000. 

Οη Αγνξέο πξώησλ πιώλ θαηά ηε δηάξθεηα ηνπ έηνπο αλήιζαλ ζε €155.000 πνπ αύμεζαλ ηα 

απνζέκαηα ησλ πξώησλ πιώλ πνπ θαηείρε ε εηαηξεία θαηά ηελ 1ε Ηαλνπαξίνπ 2013 θαηά  

 €15.000. Ζ θαηαγξαθή ησλ ηειηθώλ πξντόλησλ πνπ πξαγκαηνπνηήζεθε ηελ 31ε Γεθεκβξίνπ 

2013 έδεημε αύμεζε ησλ ηειηθώλ πξντόλησλ θαηά €30.000 ζε ζρέζε κε ην ηέινο ηνπ 

πξνεγνύκελνπ έηνπο. 

 

 Σν κηθηό θέξδνο ηεο εηαηξείαο γηα ην έηνο πνπ έιεμε ζηηο 31 Γεθεκβξίνπ 2013 ήηαλ: 

 

 Α. €250.000 

 Β. €325.000 

 Γ. €620.000 

 Γ. €340.000 

 

24. Michalis and Evangelia are in partnership together sharing profits in the ratio of 2:1 They 

invested €30.000 and €10.000 respectively in the business, although Evangelia later made 

a loan of €10.000 to the business. 

  

 The loan is still outstanding. Interest is charged on capital and loans at 6% pa and is 

credited to current accounts. The balances on the partners' current accounts at 1 April 2012 

were €15.500 for Michalis and €12.700 for Evangelia. The partnership made a profit of 

€60.000 for the year ending 31 March 2013, before charging any interest on capital and 

loans. 

  

 What is the balance on the partners' current accounts at 31 March 2013? 

   

         Michalis       Evangelia 

  

 A.         €53.500  €31.700 

 B.         €55.700  €32.500 

 C.         €57.300  €33.900 

 D.            €55.300  €32.900 

 

 

 

 

 

 

 

 

 

 

24. Ο Κηράιεο θαη ε Δπαγγειία είλαη ζπλέηαηξνη πνπ επηκεξίδνληαη εμίζνπ ηα θέξδε θαηά αλαινγία 

2:1. Έρνπλ επελδύζεη €30.000 θαη €10.000 αληίζηνηρα, ελώ ε Δπαγγειία κεηαγελέζηεξα 

έδσζε αθόκε €10.000 σο δάλεην ζηελ επηρείξεζε. 
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 Τν δάλεην δελ έρεη αθόκε εμνθιεζεί.  Υπνινγίδεηαη ηόθνο κε επηηόθην 6% εηήζηα ηόζν ζηα 

πνζά ηνπ θεθαιαίνπ όζν θαη ζην δάλεην θαη πηζηώλεηαη ζηνπο ηξερνύκελνπο ινγαξηαζκνύο. 

 Τα ππόινηπα ησλ ηξερνύκελσλ ινγαξηαζκώλ ησλ ζπλεηαίξσλ ηελ 1 Απξηιίνπ 2012 ήηαλ 

€15.500 ηνπ Κηράιε θαη €12.700 ηεο Δπαγγειίαο.  Ο ζπλεηαηξηζκόο πξαγκαηνπνίεζε θέξδνο 

€60.000 γηα ην έηνο πνπ έιεμε ζηηο 31 Καξηίνπ 2013, πξηλ ηελ ρξέσζε ηόθσλ. 

  

 Πνην είλαη ην ππόινηπν ηωλ ηξερνύκελωλ ινγαξηαζκώλ ηωλ ζπλεηαίξωλ ζηηο 31 

Καξηίνπ 2013? 

   

         Μιχάλης      Ευαγγελία 

 

 A.         €53.500  €31.700 

 B.         €55.700  €32.500 

 C.         €57.300  €33.900 

 D.            €55.300  €32.900 

 

  

25. Sara, Eleni and Alkis are in partnership, preparing financial statements as at 31 December 

each year and sharing profits 3:2:1. Sara retired on 30 June 2013, and Eleni and Alkis 

continued, sharing profits equally. 

  

 Goodwill as at 30 June 2013 (not to be retained in the accounts) was valued at 

€60.000. The NET entry to Alkis capital account to include and then eliminate 

goodwill is 

   

 A. Debit €20.000 

 B. Debit €10.000 

 C. Credit €20.000 

 D. Credit €10.000 

25. Ζ Σάξα, Διέλε θαη ν Αιθεο είλαη ζπλέηαηξνη θαη εηνηκάδνπλ ινγαξηαζκνύο 31 Γεθεκβξίνπ 

θάζε έηνπο κε αλαινγία θέξδνπο 3:2:1. Ζ Σάξα απνρώξεζε ζηηο 30 Ηνπλίνπ 2013, θαη ε 

Διέλε θαη Άιθεο ζπλέρηζαλ επηκεξίδνληαο εμίζνπ ηα θέξδε. 

  

 Σν πνζό ηεο θήκεο θαη πειαηείαο ζηηο 30 Ηνπλίνπ 2013 (πνπ δελ αλαγλωξίδεηαη ζηα 

βηβιία) ππνινγίζηεθε ζην πνζό ηωλ €60.000. Ζ ΘΑΘΑΡΖ εγγξαθή αλαγλώξηζεο θαη 

κεηά δηαγξαθήο ηεο θήκεο θαη πειαηείαο ζην ινγαξηαζκό ηνπ Άιθε είλαη  

   

 A. Φξέσζε €20.000 

 B. Φξέσζε €10.000 

 Γ. Πίζησζε €20.000 

 Γ. Πίζησζε €10.000 

 

 


